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&5 X 4 B | FimhoniE j;oaxgé B 4 TImMLDKE | H& 710)7(%23 B 4 = Limh oD S jJG)ké‘fé B 4 LimhoDLEE | B 710)7(%23
(m) (m) (kN/m) 5 BiE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
1 100kN/mM%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 655 82.62| #h st | 000 ~ 0.00| 1.65 8.83 ZFh st 1.00] 500 ~ 8.06 82.62| #huust | 500 ~ 806| 1.65 8.83
5 100kN/mM%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 659 83.09| #h st | 000 ~ 659| 1.83 9.80 ZFh st 1.00] 500 ~ 8.00 83.09| #h st | 500 ~ 800| 1.83 9.80
3 100kN/m%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 6.26 78.63| #hlist | 000 ~ 6.26| 1.96 10.48 ZFh st 1.00] 500 ~ 8.00 78.63| #hList | 500 ~ 800| 1.96 10.48
4 100kN/mM%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 7.75 99.49| #h st | 000 ~ 7.75| 2.08 11.11 FhList 1.00] 500 ~ 10.72 99.49| #h st | 500 ~ 10.72| 208 11.11
5 100kN/mM%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 752 96.19] #h st | 000 ~ 7.52| 253 13.53 ZFh st 1.00] 500 ~ 11.80 96.19] #h st | 500 ~ 11.80] 253 13.53
6 100kN/mM%#B 2% -l -~ = —-|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 0.00 ~ 6.61 83.38| #h st | 000 ~ 6.61| 1.87 10.03 FhList 1.00] 500 ~ 820 83.38] #hList | 500 ~ 820| 1.87 10.03
; 100kN/m%#B %% 1.00/ 000 ~ 1.24 118.83|3m%E#BZ5| - ~ = - -| 100kN/m%# 2% 1.00] 11.75 ~ 17.70 118.83|3m&x#BZ % -~ = = =
ZFh st 1.00/ 124 ~ 9.03 100.00| #hLlst | 000 ~ 903 215 11.51 ZFh st 1.00] 500 ~ 11.75 100.00] #h iyt | 500 ~ 17.70| 2.15 11.51
8 100kN/m%#B %% 1.00/ 000 ~ 0.91 113.71|3m%E#BZD| - ~ = - -| 100kN/m%# 2% 1.00| 10.88 ~ 14.00 113.71| 3mZ&#Z% -~ = = =
ZFh st 1.00/ 091 ~ 870 100.00| #hList | 000 ~ 8.70[ 2.07 11.06 FhLlst 1.00] 500 ~ 10.88 100.00] #h iyt | 500 ~ 1400 2.07 11.06
9 100kN/mM%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 554 69.17| #huust | 000 ~ 0.00| 159 8.49 ZFh st 1.00] 500 ~ 650 69.17| #h st | 500 ~ 650 159 8.49
10 100kN/m%#B %% 1.00/ 000 ~ 1.01 115.16|3mZE#BZ25| - ~ = - -| 100kN/m%# 2% 1.00| 10.88 ~ 14.40 115.16| 3m&x #8223 -~ = = =
ZFh st 1.00/ 101 ~ 879 100.00| #hLlst | 000 ~ 8.79 2.07 11.06 FhLlst 1.00] 500 ~ 10.88 100.00] #h iyt | 500 ~ 1440 2.07 11.06
11 100kN/m%#B %% 1.00/ 000 ~ 088 113.20| 3m%E#BZ2 5| - ~ = - -| 100kN/m%# 2% 1.00] 11.28 ~ 1460 113.20| 3mZ&#8Z % -~ = = =
ZFh st 1.00/ 088 ~ 8.67 100.00| #hList | 000 ~ 867 202 10.80 ZFh st 1.00] 500 ~ 11.28 100.00] #hbLlst | 500 ~ 1460 2.02 10.80
19 100kN/m%#B %% 1.00/ 000 ~ 037 105.47|3m%E#BZD| - ~ = - -| 100kN/m%# 2% 1.00] 1057 ~ 11.60 105.47| 3m&#BZ5 -~ = = =
ZFh st 1.00/0.37 ~ 8.16 100.00| #hList | 000 ~ 8.16[ 2.15 11.48 ZFh st 1.00] 500 ~ 1057 100.00| #h st | 500 ~ 11.60| 2.15 11.48
13 100kN/mM%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 6.96 88.29| #h st | 000 ~ 0.00| 1.64 8.80 ZFh st 1.00] 500 ~ 900 88.29| #h st | 500 ~ 9.00| 1.64 8.80
14 100kN/mM%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 642 80.73| #huust | 000 ~ 0.00| 1.70 9.12 FhLlst 1.00] 500 ~ 760 80.73| #h st | 500 ~ 7.60|] 1.70 9.12
13 100kN/mM%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
st = = Kot = -| st = ot = = = st = = Rt = -| Lot =t = =




